3. MisS0iidt =2

1) +x=4

|t 2

T 2 2013H & 20126 =
g = x5 B SES= ETRE
A 3,717,082 ©lg8 @ 3,446,140 Hlg 3,792,925 HIg 7.9 A2.0
o A ALY 3,170,653 85.3 2,931,241 851 3,245,538 85.6 8.2 A2.3
HH 2P HH| 317,997 8.6 284,621 8.3 295,758/ 7.8 11.7 7.5
Qe H] 308,215 8.3 274,709 8.0 285,647 7.5 12.2 7.9
71 & 74 W 9,782 0.3 9,912 0.3 10,111 0.3 A1.3 A~3.3
N2 e s 228,432 6.1 230,278 6.7 251,629 6.6 = 0.8 N9.2
O ukalA (Ehel - wiokel, %)
2012d = ELE(%)

T 2 2013H &
g = x5 B SE 3= ETRE T
| 3,259,300 =g 3,037,000 ¢®l= 3,342,975 dHls 7.3 N2.5
oM ALY 2,840,567 87.2 2,656,049 87.5 2,930,176 87.7 6.9 A3
HH2HLH| 312,754, 9.6 279,660 9.2 290,787 8.7 11.8 7.6
Qe - H] 303,336 9.3 269,925 8.9 280,853 8.4 12.4 8.0
7] ¥ 74 W 9,418 0.3 9,735 0.3 9,934, 0.3 A3.3 AB.2
M F S 105,979 3.3 101,291 3.3 122,012| 3.6 46 @ A13A1
O S (Etel - wiotel, %

2012H T SUE(%)

T = 2013H =
g = x5 B SE 3= ETRE E
A 457,782 Hlg 409,140 dlg 449,950 Hlg 11.9 1.7
o A AL 330,086 72.1 275,192 67.3 315,362 70.1 19.9 4.7
MY 2P A 5,243 1.1 4,961 1.2 4,971 1.1 5.7 5.5
HE R 4,879 1.1 4,784 1.2 4,794 1.1 2.0 1.8
7] 2 7 W) 364 0.1 177 0.0 177 0.0 1056  105.6
N 122,453 27 128,987 28 129,617 28 A5 A5.5
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3. MisS0iidt =2

2) 7|58 MIE0 4t

9,952 (SHe|: o1 dl)
10,000
D2012% %X ©D2013H=E
8,000
6,000
4,217 4,470
4,000 3,389 3,180
2,722 2,640
1,796 1,783
2,000 1,428
724 477
| = ] [ 5
_
detsz ssEM  wWs  2EE HFES ARISX 24 53 o #EY IEY WEYIs ofwel JlE
W glerd oy s EA7IY WE XA
[ 7|28 Ml & ]
(EHe] - AR, %)
T & 2012 of A 2013 of A S ZhH ErAr =
Al 34,461 37,171 2,710 7.9
1. detg=sdH 4,112 4,217 105 2.6
2. SSEAM Lot 1,267 1,428 161 12.7
3. 15 1,881 1,796 A 85 A 4.5
4. 2332tz 1,567 2,722 1,155 73.7
5. 8tdHE S 3,303 3,389 86 2.6
6. AtESX]| 8,791 9,952 1,161 13.2
7. 24 357 378 21 5.9
8. SE ol k=2t 4,292 4,470 178 41
9. MY-ZAT|H 1,178 724 A 454 A 38.5
10. 524 0s 1,856 1,783 A 73 A 3.9
11, I EY X A7) at 2,609 2,640 31 1.2
12, 1leto|& 15 15 - -
13. ofd|Hd]| 387 477 90 23.3
14, 7| Ef 2,846 3,180 334 11.7

HN

¥ 2012915, 20139 % x4t 7]

(<))
I
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~ 20124 = SUE(%)
o= 20139 = o X x| = EE I EXE
3,717,082 | H|€ 3,446,140 H|8 | 3,792.925 H|g 7.9 2.0
e S 421,752 | 11.3 411,195 | 11.9 468,218 | 12.3 2.6 A9.9
A A AT 6,996 0.2 5,006 0.1 5,119 0.1 39.8 36.7
- A A A A A A D 360,905 9.7 353,067 | 10.2 403,627 | 10.6 2.2 | A10.6
- A= 5.649 0.2 5,688 0.2 5,646 0.1 A0.7 0.1
- kel 48,202 1.3 47,434 1.4 53,826 1.4 1.6 A10.4
e S ERa 142,800 3.8 126,703 3.7 149,003 3.9 12.7 A4.2
- A A - 142,800 3.8 126,703 3.7 149,003 3.9 12.7 A4.2
mi= 179,587 4.8 188,076 5.5 198,194 5.2 A4.5 A9.4
ol EF 5 S 167,618 4.5 175,734 5.1 185,081 4.9 A4B N9.4
IS 11,969 0.3 12,342 0.4 13,113 0.3 A3.0 A8.7
=33 2t 272,231 7.3 156,683 4.5 197,178 5.2 73.7 38.1
ST L =S 27,142 0.7 24,059 0.7 27,075 0.7 12.8 0.2
- 49,270 1.3 52,409 1.5 68,836 1.8 AB.0 | A28.4
- AS 173,445 4.7 60,650 1.8 77,021 2.0 186.0 125.2
- - 3HA 22,374 0.6 19,565 0.6 24,246 0.6 14.4 AT.T7
SAES 338,881 9.1 330,273 9.6 354,545 9.3 2.6 A4 .4
- AbE A 282,361 7.6 269,063 7.8 283,971 7.5 4.9 A0.6
#H7E 22,922 0.6 18,532 0.5 20,505 0.5 23.7 11.8
- 7] 538 0.0 5,675 0.2 5,567 0.1 2905 | 290.3
- 2k 12,625 0.3 11,853 0.3 14,733 0.4 6.5 | A14.3
B 6,681 0.2 5,247 0.2 5,524 0.1 27.3 20.9
C S AR Z I 13,754 0.4 19,903 0.6 24,245 0.6 230.9 | ~43.3
As| S| 995,255 | 26.8 879,071 | 25.5 910,249 | 24.0 13.2 9.3
- 7| AR A 427,080 @ 11. 389,939 | 11.3 391,512 | 10.3 9.5 9.1
- FHASAY 82,938 2.2 83,804 2.4 81,805 2.2 A1.0 1.4
CHS TS E A 221,494 6.0 173,368 5.0 193,936 5.1 27.8 14.2
el 224,755 6.0 199,303 5.8 206,339 5.4 12.8 8.9
T 18,641 0.5 13,983 0.4 17,292 0.5 33.3 7.8
CHE 282 0.0 200 0.0 407 0.0 41.0 A30.7
e 6,300 0.2 6,300 0.2 6,880 0.2 0.0 A8.4
I e A kel 13,765 0.4 12,174 0.4 12,078 0.3 13.1 14.0
2A 37,778 1.0 35,720 1.0 55,322 1.5 58 | A31.7
-HAR 37,308 1.0 35,350 1.0 54,949 1.4 55  A32.1
e b Rl 470 0.0 370 0.0 373 0.0 27.0 26.0
S Bl ol 2t 446,991 @ 12.0 429,180 | 12.5 478,348 @ 12.6 4.2 A6.6
EREE 264,611 7.1 240,948 7.0 272,751 7.2 9.8 A3.0
AP AkE 139,570 3.8 147,405 4.3 148,776 3.9 A5.3 NGB.2
| i e ey 42,810 1.2 40,827 1.2 56,821 1.5 4.9 | A247
MA-SATH 72,444 1.9 117,846 3.4 119,408 3.1 A38.5 | A39.3
A F A 12,117 0.3 13,568 0.4 11,449 0.3  A10.7 5.8
A e P ==l B 4,604 0.1 4,711 0.1 5,811 0.2 A2.3 | A20.8
e 807 0.0 1,112 0.0 1,621 0.0  A27.4 | A50.2
RN P T A1 44,448 1.2 80,796 2.3 81,363 2.1 | A45.0 @ A454
- ofl U X A} 7| ek 10,468 0.3 17,659 0.5 19,164 0.5 | ~40.7 | ~r45.4
e A= 178,262 4.8 185,593 5.4 220,735 5.8 A4.0 | A19.2
= 165,297 4.4 174,803 5.1 208,100 5.5 AB4 | A20.6
- YFuE-EFs e 12,965 0.3 10,790 0.3 12,635 0.3 20.2 2.6
= E 2IX| o)t 263,987 71 260,959 7.6 297,835 7.9 1.2 | A11.4
- A 131,509 3.5 115,505 3.4 121,693 3.2 13.9 8.1
A G EA] 132,478 3.6 145,454 4.2 176,142 4.6 A8.9 | A24.8
Ish|s 1,457 0.0 1,486 0.0 1,323 0.0 A2.0 10.1
- e lEATFAY 1,457 0.0 1,486 0.0 1,323 0.0 22.0 10.1
of H|H| 47,659 1.3 38,734 1.1 46,808 1.2 23.0 1.8
7| Et 317,998 8.6 284 621 8.3 295 759 7.8 11.7 7.5
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AHE| A
(che| - viotel %)
o - 2012 SUE(%)

o= 20139 = o X i = SEL LI E T
3,259,300 H|g | 3,037,000 | H|S | 3342975  H|ES 7.3 N2.5
Dl 219,634 6.7 226,495 7.5 247,695 7.4 A3.0 | A11.3
A AL A AT 6,996 0.2 5,006 0.2 5,119 0.2 39.8 36.7
- A A A A A A D 158,787 4.9 168,367 5.5 183,104 5.5 AB7 | A13.3
- A= 5.649 0.2 5,688 0.2 5,646 0.2 N0.7 0.1
- kel 48,202 1.5 47,434 1.6 53,826 1.6 1.6 A10.4
AN NeE 142,800 4.4 126,703 4.2 149,003 4.5 12.7 A4.2
A A -7 142,800 4.4 126,703 4.2 149,003 4.5 12.7 A4.2
k=3 162,912 5.0 174,644 5.8 181,134 5.4 AB6.7 | A10.1
ol EF 5 S 155,157 4.8 166,534 5.5 173,215 5.2 NGB8 | A10.4
IS5 uS 7,755 0.2 8,110 0.3 7,919 0.2 A4 4 A2.1
2atalat 272,231 8.4 156,683 5.2 197,178 5.9 73.7 38.1
ST L =S 27,142 0.8 24,059 0.8 27,075 0.8 12.8 0.2
R 49,270 1.5 52,409 1.7 68,836 2.1 AB.0 | A28.4
- AS 173,445 5.3 60,650 2.0 77,021 2.3 186.0 125.2
- - 3HA 22,374 0.7 19,565 0.6 24,246 0.7 14.4 AT.T
SAES 338,881 | 10.4 330,273 | 10.9 354,545  10.6 2.6 A4 .4
- AbE A 282,361 8.7 269,063 8.9 283,971 8.5 4.9 N0.6
-7 E 22,922 0.7 18,532 0.6 20,505 0.6 23.7 11.8
- 7] 538 0.0 5,675 0.2 5,567 0.2 | A90.5 | ~290.3
- 2k 12,625 0.4 11,853 0.4 14,733 0.4 6.5 | A14.3
- 6,681 0.2 5,247 0.2 5,524 0.2 27.3 20.9
C S AR Z I 13,754 0.4 19,903 0.7 24,245 0.7 | ~30.9 | ~43.3
Als| S| 761,510 | 23.4 673,024 22.2 702,854 @ 21.0 13.1 8.3
7SR 193,335 5.9 183,892 6.1 184,117 55 5.1 5.0
- F o AFA Y 82,938 2.5 83,804 2.8 81,805 2.4 A1.0 1.4
CHS TS E A 221,494 6.8 173,368 5.7 193,936 5.8 27.8 14.2
el 224,755 6.9 199,303 6.6 206,339 6.2 12.8 8.9
T 18,641 0.6 13,983 0.5 17,292 0.5 33.3 7.8
CRE 282 0.0 200 0.0 407 0.0 41.0 | A30.7
e 6,300 0.2 6,300 0.2 6,880 0.2 0.0 A8.4
I e A kel 13,765 0.4 12,174 0.4 12,078 0.4 13.1 14.0
2A 37,778 1.2 35,720 1.2 55,322 1.7 58 | A31.7
- HAE 37,308 1.1 35,350 1.2 54,949 1.6 55  A32.1
e b Rl 470 0.0 370 0.0 373 0.0 27.0 26.0
SEal eF it 446,991 @ 13.7 429,180 14.1 478,348 @ 14.3 4.2 A6.6
EREE 264,611 8.1 240,948 7.9 272,751 8.2 9.8 A3.0
AP AkE 139,570 4.3 147,405 4.9 148,776 4.5 A5.3 NGB.2
i e e 42,810 1.3 40,827 1.3 56,821 1.7 4.9 | 247
ME-EAT|Y 72,444 2.2 117,846 | 3.9 119,408 3.6 | A38.5 | 2393
A F A 12,117 0.4 13,568 0.4 11,449 0.3 A10.7 5.8
A e P ==l B 4,604 0.1 4,711 0.2 5,811 0.2 A2.3 | A20.8
e 807 0.0 1,112 0.0 1,621 0.0  A27.4 | A50.2
RN P T A1 44,448 1.4 80,796 2.7 81,363 24  A450 | A454
- ofl U X A} 7) ek 10,468 0.3 17,659 0.6 19,164 0.6 | ~40.7 | ~45.4
=53 WS 178,262 5.5 185,593 6.1 220,735 6.6 A4.0 | A19.2
.~ 165,297 5.1 174,803 5.8 208,100 6.2 AB4A | A20.6
- uE-EFs 7 E 12,965 0.4 10,790 0.4 12,635 0.4 20.2 2.6
= E 2IX| o7t 263,987 8.1 260,959 8.6 297,835 8.9 1.2 | A11.4
- A 131,509 4.0 115,505 3.8 121,693 3.6 13.9 8.1
A G EA] 132,478 4.1 145,454 4.8 176,142 5.3 A8.9 | A24.8
Ish|= 1,457 0.0 1,486 0.0 1,323 0.0 A2.0 10.1
- e lEATFAY 1,457 0.0 1,486 0.0 1,323 0.0 22.0 10.1
of H|H| 47,659 1.5 38,734 1.3 46,808 1.4 23.0 1.8
7| Et 312,754 9.6 279.660 9.2 290,787 8.7 11.8 7.6
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H =72r2(%

T e 2013 = g = ek z & EE gil/%)tHul

Al 457,782 | H|& 409,140 | H|8 449,950 @ H|g 11.9 1.7
Atz 202,118 | 44.2 184,700 | 45.1 220,523 = 49.0 9.4 ~8.3
- AR A A A 202,118 | 44.2 184,700 = 45.1 220,523 | 49.0 9.4 A8.3
s 16,675 3.6 13,432 3.3 17,060 3.8 241 N2.3
Fold x5S 12,461 2.7 9,200 2.2 11,866 2.6 35.4 5.0
CaS NS 4,214 0.9 4,232 1.0 5,194 1.2 AN04 | A18.9
NN 233,745 | 51.1 206,047 | 50.4 207,395 = 46.1 13.4 12.7
2GR 233,745 | 51.1 206,047 = 50.4 207,395 = 46.1 13.4 12.7
7| Ef 5,244 1.1 4,961 1.2 4,972 1.1 5.7 5.5

Q 7|EtSE3A (3)

09,221 WY — 1SN 4,184 WA (45.4%), 71€F 5,008 7H(54.3%)
CALS B A RE (7] 2SR ) 233,745 7 (99.97%), 71EF 559w (0.03%)

= T
WS/ FoldxTE5 S 12,4619 (100%)

I
o o oY
Bt
oo L[ i

£ ot
i N &
ot dl ok
i o Mo
Mo o2 o2

el

H3A (1)

o
OH
]
12
im

- AR e - dRibe s /A AEAL 202,300 7H (100%)
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3. MisS0iidt =2

3) S-E M=ot
(hel: ofel)
20,000
16.274 020124 =
02013E=
15,000 —
12,356
10,000
5,000
2,552 2,125
1,041 LB 990
’ 463
Nl [ — e [T |
ol 74| =sall Aol XEXE  8XUEXR EXMY WEHY  ofu|s|YI|E
[ MEE 2j e 2 ]
(ehel - o2l %
T 20124 0f A 2013 0f| A = oy s
A 34,461 37,171 2,710 7.9
100 Q174H] 2,267 2,552 285 12.6
200 2744| 985 1,041 56 5.7
300 ZAto|H 11,217 12,356 1,139 10.2
400 AHEX| & 15,331 16,274 943 6.2
500 Xt EX} 388 463 75 19.3
600 XA 2 1,355 1,370 15 1.1
700 L&A 2,084 2,125 41 2.0
800 oflt|H| 7| Et 834 990 156 18.7

¥ 20129 %, 20139 Fxdit

7]

HN

<3}
=y
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3. M=olat =2

B SZ(LE+EE)
(Sl - sHokel %)
E SUE(%

T = 20134 = N 5 = TEie | s
H 3,717,082 | H|& @ 3,446,140 H|E 3,792,925 H|E 7.9 N2.0
100 1Z4H| 255,204 6.9 226,734 6.6 \ 240,962 6.4 12.6 5.9
101 114 255,204 6.9 226,734 6.6 240,962 6.4 12.6 5.9
200 S| 104,065 2.8 98,464 2.9 \ 106,822 2.8 5.7 N2.6
201 Y¥kEdH 57,417 1.5 51,109 1.5 56,232 1.5 12.3 2.1
202 oy 10,580 0.3 10,948 0.3 11,176 0.3 N34 N5.3
203 7| 3,061 0.1 3,085 0.1 3,060 0.1 A0.8 0.0
204 A 5537y 15,785 0.4 15,419 0.4 15,223 0.4 2.4 3.7
205 ©] 3] 7] 3,527 0.1 3,557 0.1 3,446 0.1 A0.8 2.4
206 A 5.4 6,687 0.2 6,689 0.2 7,606 0.2 A0.0 | Al2.1
207 AT-70 ] 7,008 0.2 7,657 0.2 10,079 0.3 A8.5 | A30.5
300 AdAto|™ 1,235,562 33.2 | 1,121,739 32.6 | 1,194,061 31.5 10.1 3.5
301 ¥vkig= 17,138 0.5 15,544 0.5 16,214 0.4 10.3 5.7
303 47 14,049 0.4 13,387 0.4 13,121 0.3 4.9 7.1
304 AuFHaT 38,562 1.0 34,721 1.0 31,768 0.8 11.1 21.4
305 W= 20 0.0 20 0.0 20 0.0 0.0 0.0
306 A5 15,840 0.4 12,506 0.4 36,912 1.0 26.7 @ A57.1
307 "zkolH 83,723 2.3 73,355 2.1 78,753 2.1 14.1 6.3
308 AA A F ol A 1,027,298 | 27.6 930,735 | 27.0 976,876 | 25.8 10.4 5.2
309 3719 A B HET 1,039 0.0 978 0.0 433 0.0 - -
310 = 2Jo]d 505 0.0 508 0.0 508 0.0 ~0.6 ~0.6
311 2kg=ol A3k 37,388 1.0 39,985 1.2 39,456 1.0 NB.5 N5.2
400 AHEX| & 1,627,428 43.8 | 1,533,139 445 | 1,709,609 = 45.1 6.2 A48
401 A AL R v 327,991 8.8 232,751 6.8 286,670 7.6 40.9 14.4
402 VAR o] 17,647 0.5 23,073 0.7 30,654 0.8 | A23.5 | A424
403 AR A 5 A} 0] A 1,265,545  34.0 | 1,258,343 | 36.5 | 1,367,601 | 36.1 0.6 NT.5
405 A 54 16,215 0.4 18,932 0.5 24,644 0.6 | Al44 | A34.2
406 7] EfA}E o] - - - - - - - -
407 = Q| A}Eo]H 30 0.0 40 0.0 40 0.0 | A25.0 | A25.0
500 Xt &R} 46,300 1.2 38,800 1.1 ] 58,140 1.5 19.3 | A20.4
501 &A= 46,300 1.2 28,800 0.8 48,140 1.3 60.8 N3.8
502 &A= - - 10,000 0.3 10,000 0.3 | 100.0 100.0
600 EX x| 136,956 3.7 135,488 3.9 \ 154,870 4.1 1.1 | A11.6
601 2= =733t 136,956 3.7 135,488 3.9 154,870 4.1 1.1 | All6
700 U524 212,633 | 5.7 208,380 6.0 \ 217,257 5.7 20 | a22
701 71 AR ET 31,002 0.8 28,578 0.8 28,547 0.8 8.5 8.6
702 VlHAES 12,243 0.3 14,974 0.4 14,883 0.4 | A18.2 | Al17.7
703 WA EH 3] A A 158,475 4.3 153,605 4.5 162,604 4.3 3.2 N2.5
705 dFadEadEt 10,813 0.3 11,223 0.3 11,223 0.3 N3.7 N3.7
800 oi|H|H| 27| EF 99,034 2.7 83,396 2.4 111,204 2.9 18.8 | A10.9
801 of|H]H] 99,004 2.7 83,366 2.4 108,554 2.9 18.8 N8.8
802 WH3k= 7] e} 30 0.0 30 0.0 2,650 0.1 - 2989
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3. M=olat =2

O uts|A
(SHel : gHOrel %)
= ZU2(%

T 2 201885 TE 1 HE S gil/%)EHHI
AH 3,259,300 H|E& | 3,037,000 @ H|8& 3,342,975 H|8 7.3 A2.5
100 21 Z4H| 250,599 7.7 222,201 7.3 \ 236,411 7.1 12.8 6.0
101 1x24] 250,599 7.7 222,201 7.3 236,411 7.1 12.8 6.0
200 S744| 100,567 3.1 95,565 3.1 \ 103,606 3.1 5.2 N2.9
201 dukd] 54,380 1.7 48,636 1.6 53,456 1.6 11.8 1.7
202 o] 10,439 0.3 10,840 0.4 11,064 0.3 A3.7 A5.6
203 7 F7H| 3,007 0.1 3,034 0.1 3,009 0.1 A0.9 A0.1
204 2T 7] 15,636 0.5 15,289 0.5 15,083 0.5 2.3 3.7
205 <] 3] H] 3,527 0.1 3,557 0.1 3,446 0.1 A0.8 2.4
206 A =4 6,678 0.2 6,680 0.2 7,597 0.2 A0.0 | Al2.1
207 AT 70 6,900 0.2 7,529 0.2 9,951 0.3 A84  A30.7
300 Z4to| X 1,215,995 @ 37.3 1,101,771 | 36.3 = 1,174,631 | 35.1 10.4 3.5
301 ¢t g 16,196 0.5 15,006 0.5 15,534 0.5 7.9 4.3
303 EAF 14,006 0.4 13,344 0.4 13,078 0.4 5.0 7.1
304 A HES 38,433 1.2 34,594 1.1 31,641 0.9 11.1 21.5
305 Wi =5 20 0.0 20 0.0 20 0.0 0.0 0.0
306 E9F 15,840 0.5 12,506 0.4 36,912 1.1 26.7 | ~57.1
307 ¥ztol A 83,563 2.6 73,175 2.4 78,533 2.3 14.2 6.4
308 AA| A F ol A 1,023,339  31.4 926,720 = 30.5 973,581 | 29.1 10.4 5.1
309 F71AAEAEH 1,039 0.0 978 0.0 433 0.0 - -
310 =¢jold 505 0.0 508 0.0 508 0.0 A0.6 A0.6
311 A ol A3 23,054 0.7 24,920 0.8 24,391 0.7 AT5 A5.5
400 AH2X| & 1,398,210 42.9 | 1,330,953 | 43.8 1,505,054 @45.0 5.1 AT A
401 A A H R RO v 327,775 | 10.1 232,529 7.7 286,447 8.6 41.0 14.4
402 V7R 01 17,647 0.5 22,273 0.7 29,854 0.9 | A20.8 | A40.9
403 AA| A 5 A o] A 1,036,772 = 31.8 | 1,057,440 @ 34.8 1,164,489 @ 34.8 N2.0 | Al11.0
405 A4 54 15,986 0.5 18,671 0.6 24,224 0.7 | Al4.4 | A34.0
406 7] EfAFE o] H - - - - - - - -
407 =)Aol H 30 0.0 40 0.0 40 0.0 | A25.0 @ A250
500 8XtY =X} 7,800 0.2 17,800 0.6 \ 18,240 0.5 | A56.2 | AB7.2
501 A= 7,800 0.2 7,800 0.3 8,240 0.2 0.0 A5.3
502 EAH - - 10,000 0.3 10,000 0.3 | 100.0 100.0
600 ZM X 28,867 0.9 21,836 0.7 \ 40,588 1.2 32.2 | A28.9
601 A= ads 28,867 0.9 21,836 0.7 40,588 1.2 32.2 | A289
700 W57 209,603 6.4 208,140 6.9 \ 215,017 6.4 0.7 N2.5
701 71EFS AR E = 31,002 1.0 28,578 0.9 28,547 0.9 8.5 8.6
702 71FAEF 12,243 0.4 14,734 0.5 14,643 04 | A16.9 | Al6.4
703 WSB EHS| AHES | 155,645 4.8 153,605 5.1 160,604 4.8 1.3 A3.1
705 dlgadEE S E 10,813 0.3 11,223 0.4 11,223 0.3 N3.T7 N3.7
800 of|H|H| 27| Ef 47,659 1.5 38,734 1.3 49,428 1.5 23.0 N3.6
801 ofH]H] 47,659 1.5 38,734 1.3 46,808 1.4 23.0 1.8
802 ¥H3h= 7] Ef - - - - 2,620 0.1 - | A100.0
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3. M=olat =2

O SH3[A
(Ctel - gkl %
Lq = =7+2 (9

T 2 2013 = o x 2z z = QEJHTEiétHul

A 457,782 | H|8 409,140 | H|S 449,950 | H|8 11.9 1.7

100 2lZ4H| 4,605 1.0 4,533 11 \ 4,551 1.0 1.6 1.2
101 2179 4,605 1.0 4,533 1.1 4,551 1.0 1.6 1.2
200 S744| 3,498 0.8 2,899 0.7 \ 3,216 0.7 20.7 8.8
201 dukEd] 3,037 0.7 2,473 0.6 2,776 0.6 22.8 9.4
202 o] 141 0.0 108 0.0 112 0.0 30.6 25.9
203 Y FF3H] 54 0.0 51 0.0 51 0.0 5.9 5.9
204 2T 7] 149 0.0 130 0.0 140 0.0 14.6 6.4
205 <] 31 - - - - - - - -
206 A 5.1 9 0.0 9 0.0 9 0.0 0.0 0.0
207 AT 70 108 0.0 128 0.0 128 0.0 | 2156 | A15.6
300 Z4to| X 19,567 4.3 19,968 4.9 19,430 4.3 £2.0 0.7
301 AR A= 942 0.2 538 0.1 680 0.2 75.1 38.5
303 £ 43 0.0 43 0.0 43 0.0 0.0 0.0
304 A HES 129 0.0 127 0.0 127 0.0 1.6 1.6
305 Wi =5 - - - - - - - -
306 A - - - - - - - -
307 F13kold 160 0.0 180 0.0 220 00 | A11.1 | A27.3
308 AA| A 5-0] A 3,959 0.9 4,015 1.0 3,295 0.7 Al.4 20.2
309 379 A =T - - - - - - - -
310 =refold - - - - - - - -
311 2= ol A3k 14,334 3.1 15,065 3.7 15,065 3.3 A4.9 A4.9
400 AH2X| & 229,218 | 50.1 202,186 | 49.4 204,555 | 45.5 13.4 12.1
401 Al H R 54| 216 0.0 222 0.1 223 0.0 N2.7 A3.1
402 N 7EARFE 0] A - - 800 0.2 800 0.2 - -
403 A A 52 o] A 228,773 | 50.0 200,903 | 49.1 203,112 | 45.1 13.9 12.6
405 A4 54 229 0.1 261 0.1 420 0.1 | A12.3 | 2455
406 7] EfAFE o] H - - - - - - - -
407 =] AFE ol H - - - - - - - -
500 Xt =X} 38,500 8.4 21,000 5.1 \ 39,900 8.9 83.3 A3.5
501 §A= 38,500 8.4 21,000 5.1 39,900 8.9 83.3 A3.5

502 EAF - - - - - - - -
600 XA 108,089 | 23.6 113,652 | 27.8 \ 114,282 25.4  A4.9 A5.4
601 2= D a8 108,089  23.6 113,652 @ 27.8 114,282 | 25.4 A4.9 A5.4
700 L7124 2,930 0.6 240 0.1 \ 2,240 0.5 1,120.8 30.8
701 71EFS AR E = - - - - - - - -
702 719 A EH - - 240 0.1 240 0.1 - -
703 SR EHI| AL EF 2,930 0.6 - - 2,000 0.4 | #DIV/0! 46.5
705 dlFad e ad g - - - - - - - -
800 oflH[H| 7| E} 51,375  11.2 44,662  10.9 61,776 | 13.7 15.0 | A16.8
801 <] 51,345 | 11.2 44,632 | 10.9 61,746 | 13.7 15.0 A16.8
802 WHgh+ 7]} 30 0.0 30 0.0 30 0.0 - -
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3. M=olat =2

[ ZIEFEHEEA ]
(Sl : wiakel %)
T = 201385 FE L HE TR | e
H 255,482  H|g 224 440 @ H|g 229,427 H|g 13.8 11.4
100 2l ZiH| 4,605 1.8 4,533 2.0 \ 4,551 2.0 1.6 1.2
101 174 #H] 4,605 1.8 4,533 2.0 4,551 2.0 1.6 1.2
200 =744| 3,460 1.4 2,867 1.3 \ 3,184 1.4 20.7 8.7
201 YRk H 3,011 1.2 2,453 1.1 2,756 1.2 22.7 9.3
202 oy 134 0.1 101 0.0 105 0.0 32.7 27.6
203 7] 49 0.0 46 0.0 46 0.0 6.5 6.5
204 A7 149 0.1 130 0.1 140 0.1 14.6 6.4
205 2134 - - - - - - - -
206 A E.H] 9 0.0 9 0.0 9 0.0 0.0 0.0
207 AT-70 ] 108 0.0 128 0.1 128 0.1 | A15.6 | A15.6
300 ZAto|N™ 5,233 2.0 4,903 2.2 4,365 1.9 6.7 19.9
301 dutR g 942 0.4 538 0.2 680 0.3 75.1 38.5
303 4 43 0.0 43 0.0 43 0.0 0.0 0.0
304 A EET 129 0.1 127 0.1 127 0.1 1.6 1.6
305 ¥ =5 - - - - - - - -
306 EAF - - - - - - - -
307 "zkold 160 0.1 180 0.1 220 0.1 | all.l | A27.3
308 AA A F ol A 3,959 1.5 4,015 1.8 3,295 1.4 A4 20.2
309 3719 A B HET - - - - - - - -
310 =¢]old - - - - - - - -
311 A Fol A3 - - - - - - - -
400 AHEX| & 229,218 | 89.7 202,186 | 90.1 204,555 | 89.2 13.4 12.1
401 Al M L -t H] 216 0.1 222 0.1 223 0.1 N2.7 A3.1
402 M ZFAFE 0] A - - 800 0.4 800 0.3 - -
403 AFA A S A2 o] A 228,773 | 89.5 200,903 | 89.5 203,112 | 88.5 13.9 12.6
405 A 54 229 0.1 261 0.1 420 0.2 | A12.3 | A455
406 7] EfA}E o] - - - - - - - -
407 = Q| A}Eo]H - - - - - - - -
500 Xt =X} - - - - ] - - - -
501 &A= - - - - - - - -
502 EA+5 - - - - - - - -
600 EXAY - - - - \ - - - -
601 2tg = =733t - - - - - - - -
700 LS 7HeH 2,930 1.1 240 0.1 \ 2,240 1.0 0.0 0.0
701 71 AR ET - - - - - - - -
702 N1EHET - - 240 0.1 240 0.1 |A100.0 |#####H1H#
703 AHH EHIAHNET 2,930 1.1 - - 2,000 0.9 - -
705 dlFadEad - - - - - - -
800 oi|H|H| 27| EF 10,036 3.9 9,711 4.3 10,532 4.6 3.3 N4T7
801 oflu]H] 10,006 3.9 9,681 4.3 10,502 4.6 3.4 n4T7
802 Wk3k= 7] e} 30 0.0 30 0.0 30 0.0 - -
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15,065

401 A8 R gju]
402 R 7kA} o] A

403 AA) T A5 A 0]
405 A4+ 5]

406 7| EAH o] 4

407 9] AH30]

500 SAtX &AL

38,500

19.0

21,000

1.4

39,900

18.1

83.3

A3.5

501 &A=

38,500

19.0

21,000

11.4

39,900

18.1

83.3

N3.5

502 A4+

0.0

0.0

600 EAA A

108,089

53.4

113,652

61.

114,282

51.8

AN4.9

A5.4

601 A= a3

108,089

53.4

113,652

S
61.5

114,282

51.8

AN4.9

ND.4

700 HHEAHe

701 71 Ad ==
702 71HAET

703 W EH S E 3]
705 ArFadE T

o

800 ofl5|H[ S 7| Ef

41,339

20.4

34,951

18.9

51,244

23.2
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A19.3

801 o|H]H]
802 Rk&H5 7] e

41,339
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